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Add individual feedback

GENDER *

() Female
@ Male
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CAMPUS *

Nyahururu
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COURSE *

Nursing

Add individual feedback

/0

/0

/0

/0



v/ 1) Which one of the following is not a muscle of mastication? *

O a) Masseter
O b) Temporalis
O c) Pterigoid

@ d) Orbicularis occuli

Add individual feedback

v/ 2) Bones forming cranium include all except *

() a) Temporal
O b) Parietal
@ c) Zygomatic

O d) Occipital

Add individual feedback

v/ 3) Which one of the following is not a flat bone? *

@ a) Carpals

() b)Ribs
() c)Sternum

() d) Skull

Add individual feedback
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/ 4
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v/ 4) Paranasal sinuses include all except *

O a) Frontal

O b) Sphenoid
@ c¢) Mastoid
() d) Ethmoid

Add individual feedback

v/ 5) Which one of the following bones is not in the cranium? *

() a) Parietal
() b) Temporal
O c) Superior conchae

@ d) Inferior conchae

Add individual feedback

v/ 6) Which part of radius is on the distal end of radius? *

(@ a) Styloid process
() b) Interrosseus membrane
() ©) Olecranon process

() d) Trochlear notch

Add individual feedback
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/ 4

/ 4



< 7) Which one is true about lumbar vertebral * 4 / 4

O a) They are smaller than thoracic
O b) The distal body forms the lumbo-sacral joint
O c) They are square shaped

@ d) They have bifid spinous process v

Add individual feedback

v/ 8) The following muscle connects the upper limb with the thoracic wall: * 4 / 4

@ (a) Pectoralis major v
O (b) Biceps brachii
O (c) Extensor carpi ulnaris

O (d) Pronator teres

Add individual feedback

v/ 9) Which of the following is contained in the middle ear? * 0 /0

O (a) Pinna

O (b) External auditory meatus

(® (o) Auditory ossicles v

O (d) Semicircular canals

Add individual feedback



< 10) The liveris located in the. ..................... and extends................... i

the...e.. Region of the body *

a) Left upper quadrant, along the midline, right upper quadrant
b) Right lower quadrant, across midline, left upper quadrant

c) Right upper quadrant, across he midline, left upper quadrant

O ® O O

d) Left lower quadrant, to left upper quadrant

Add individual feedback

BE KEEN ENOUGH, ONE wrong, ALL wrong

X 1. Proximal raw of carpal bones include *

a) Scaphoid

8

b) Hamate

c) Trapezoid

0 8 O

d) Pisiform
e) Triquetrum

Correct answer
a) Scaphoid
c) Trapezoid

d) Pisiform
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v/ 2. About the lungs and bronchi *

<]

a) The right lung has 3 lobes

(<)

b) The left lung has 2 lobes

c) The hilum of the lungs gives a channel of blood vessels

N <

d) The left bronchus is shorter and straighter than the right

<]

e) The right bronchus is shorter and straighter than the left

Add individual feedback

v/ 3.Components of the upper respiratory tract include *

a) Larynx

< <

b) Nasophaynx

c) Trachea

00O

d) Bronchi

e) Nose
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v/ 4.The following are paired facial bones *

a) Maxilla
|:| b) Sphenoid
c¢) Zygomatic

D d) Ethmold

| ] e)Mandible

Add individual feedback

v~ 5.Humanribs: *

a) Are 6 pairs

8 O

b) 1st rib is horizontal

(<)

c) Enclose the lungs

d) Do not articulate with thoracic vertebral

I <

e) All ribs articulate with the sternum
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v/ 6.Regarding the distal humerus: *

a) The capitulum is medial condyle

8 [

b) The trochlear marks the medial condyle

(<)

c) Has olecranon fossa

d) Has a trochlear notch

8 8

e) Has two epicondyles

Add individual feedback

v/ 7.Respond to the following information pertaining to blood supply to the GIT *

<]

a) The liver and the stomach are supplied by branches of celiac trunk

(<)

b) Ascending and transverse colon are supplied by branches of superior mesenteric artery

(<)

c) Descending colon and rectum are supplied by branches of inferior mesenteric artery

O

d) The stomach is supplied by the inferior mesenteric artery

D e) The duodenum is supplied by the renal artery
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v/ 8. The following form the external female genitalia: *

a) Mon'’s pubis

8 8

b) Clitoris

O

c) Vagina

d) Batholith’s glands

8 8

e) Labia minora

Add individual feedback

v/ 9. The following form part of proximal end of humerus *

D a) Lesser trochanter
b) Greater tuberosity
c¢) Anatomical neck
| ] d)Epicondyle

| ] e) Linear aspera
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v/ 10. About the pancreas: *

a) Is located behind the stomach

b) Has both endocrine and exocrine functions

8 8

c) Islets of Langerhans produce pancreatic juice

O

d) Receives blood supply from coeliac and superior mesenteric arteries

(<]

D e) Pancreatic duct drains enzymes into the jejunum

Add individual feedback

v The following are salivary gland, sublingual,mandibula,carotid *

Add individual feedback

v/ how many thoracic vertebra do a normal man has? *

numbers only?

12
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X 3.Name at least 10 parts that form the female genitalia * / 4

Mon pubis, labia majora, labia minora, hymen, clitoris, vagina, uterus, cervix, uterine tubes,overies, X

Correct answers
Mon pubis
Labia majora
Labia minora
Hymen
Clitoris
Vestibule and Urethral orifice
Skenes and Bartholins glands
Vestibular bulbs
Vagina
Uterus
Cervix
Uterine tubes

Ovaries
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